s ) HERC HAENBL - HEAE] G -1 ..

e ¥1F | #2F | ¥3F | #4F | #5F~
=] & 12, 864 5,710 4,657 1,951 386 100
H & 10, 668 4, 888 3, 831 1,567 300 82
B & 2,196 882 826 384 86 18
e 2,480 1,151 923 334 95 17
REHREERT 2,480 1,151 923 334 95 17
INEETH 265 116 99 38 10 2
EAT 129 335 243 125 20 6
/N T 28 13 8 3 1
{fe A FERT 4 15 14 8 -
NI EF 36 17 1 6 - 2
GECH 22 9 4 8 i -
RS 3 : 2 : i -
ALARAAS 1 i - - - -
B2 IRET 116 48 38 26 4 -
fEn{X B ET 95 4 37 14 3 -
SLHRHET 35 15 13 6 1 -
1E A RIERR 1,371 610 469 234 47 11
EHE™ 973 464 339 132 21 1
RE™ 192 89 69 25 5 4
RANHT 21 6 9 6 - -
BARH 29 16 9 3 1 -
L EfRERT 1,215 575 426 166 33 15
e & 279 114 111 43 8 3
AREA T 331 161 116 46 8 -
FEHH 356 151 133 58 12 2
TEREAET 85 29 35 14 6 1
=T RHET 83 28 39 13 3 -
EX ] 42 16 18 5 2 1
AR R AT 1,176 499 452 179 39 1
FAH 411 182 153 69 6 1
B4 iR 196 83 74 33 6 -
=EFHET 85 31 36 15 2 1
HHmET 137 54 o7 24 2 -
R S HT 44 16 19 1 1 1
e E o A 160 16 95 25 4 -
Sk 32 13 12 6 1 -
= 52 21 16 12 1 2
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s o) HAER HAENBL - HEAE G —2) .

B %17 | #®2F | #®3F | #4F | H5F~
AR R A2 A 1,117 476 422 191 23 5
ERET 654 299 224 102 25 4
N 83 30 34 15 3 1
= AT 63 30 24 5 3 1
el 7 BT 12 4 6 1 1 -
el &5 42 12 12 12 ) 1
Tk - : - - : -
EER 3 1 i 1 - -
Thh 25 8 8 8 i -
SRR 3 - : 3 - -
S G 3 2 : - i -
REH 1" 4 3 3 1 -
BARN 43 17 13 7 5 1
SEF 44 18 17 7 2 -
XEER 4 3 i - - -
R B R 2R 990 428 343 164 47 8
L HRET 12 3 6 3 - -
e 10 4 4 i i -
KEH 43 16 21 4 2 -
AAH 11 7 3 i - -
Eifgh 3 1 i i - -
S 17 8 6 2 i -
R R 9% 39 4 12 4 -
Nz N 1,608 809 560 189 43 1
BHRT 507 221 192 67 12 9
REHT 565 261 189 93 17 5
AT 10 3 6 i - -
1T 13 7 3 2 i :
pZs) 65 24 21 13 1 -
B 21 1" 8 8 - -
AL 17 7 7 2 : i
MR RERT 2,812 1, 349 992 375 14 22
KETT 141 61 45 21 5 3
it ER BT 39 20 1 6 2 -
NIIES) 49 24 17 7 1 -
BEH 44 21 17 4 2 -
INSH 16 8 7 i - -
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s o) HAERC HAENBL - HEAE G —3) .

B %17 | #®2F | #®3F | #4F | H5F~
KHET R 2R 289 134 97 45 10 3
AR 281 113 108 46 13 1
Faamh 343 128 126 13 11 )
YR ET 66 25 24 12 3 2
/M B ET 18 26 30 20 -
ST 20 7 10 3 - -
(S =HET 26 7 16 1 1 1
B A HT 40 16 15 6 2 1
NI 7 1 3 3 - -
RERERT 861 323 332 164 32 10
hEFH 262 108 95 45 12 2
gRilT 95 36 32 22 5 -
i/ RET 45 22 14 1 2 -
R BTA 21 9 7 3 2 -
HRBRA 28 10 9 8 i -
S 6 1 3 2 - -
LIS ReErr 457 186 160 87 22 2
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